Note to teacher; these questions are identical to the similarly numbered questions in section 7.2
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2. Evaluate each of the following.  Express your answers as whole numbers or fractions.
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3. Evaluate.  Express your answers as whole numbers or fractions.
a)
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6.
Rewrite each of the following as a single power, then evaluate.  Express your answers as whole numbers or fractions.
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8. Rewrite each of the following as a single power, and then evaluate.  Express your answers as whole numbers or fractions.
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16. Rewrite each numerator and denominator as a power, then use the exponent rules to simplify.  Express your answer as a power with a whole number base.  Then, evaluate.
a)
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